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) ER1, 7002 +52| E1+0.5A] 2H+4TH* 122 204
OAIE2EbBI= X 25,090
Otlatgs=AlE S22 (HE=x 2 4)
350,000 574 2 1,750
O3 dE4a 1,600
Y=, UHEH=X
400,000% x2JH 2:x23] 1,600
Otlag=AlE 2| otd2te| CHad (e
HI| 20kwOl &) D e = HH U ==Xl CHE =
120,000 x304 =% 123 4,320
OF=)| 24E Al & 2ol2+X 22
e =1) 5,500,000 * 174 2~ 5,500
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B R|oipigre] otgr s
el Xg Aol ast (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHlaZ=AIE HoIME SAHUHE =)
4,000,000 *10H 2 4,000
Otlas=Ald d+22 S9H(HB X,
CHBH==XI) 330,0002 x20H A 123 7,920
206 M=l 1,300 1,300
01 M= HI 1,300 1,300
OHldZAIE AZ M 7S (Y=, Y
Hi==X1) 50,0002 x5S +204 2 500
OHINE4 F4E 42 TY(YED)
10,0002 +B0XE*1JH A 800
405 AtatsE = 3,500 3,500
01 ML ESFSHI 3,500 3,500
ORI &I SX(UHY=x)
3,500,000 * 104 2= 3,500
olgtel Al EH| =& 34,810 36,490 1,680
= 6,300
Al 6,552
- 21,958
405 AtatE = 34,810 36,490 1,680
= 6,300
Al 6,552
- 21,958
01 ML ESFSHI 34,810 36,490 21,680
Ot & 2SFSH| 34,810
Oolg=ll sty &= 23
42,0002 50004 21,000
= 6,300
Al 4,410
- 10,290
Oolg=tl sl &= HOIE UM 2
= 42,0002 %1704 7,140
Al 2,142
- 4,998
ougAZH 2 6,670
SO OHE 50,5003 #4204 2,121
A= EHT 500,000 +2K 1,000
SSHINE(FSE)
24,5003 =42H 1,029
sAESAH 76,0002 *28K 2,128
=sUHE =2&8s 14,0002 +28H 392
& - HAl CHEIEHAl 7= 167,807 170,151 A2,344
Al 18,717
- 152,090
UHaA=s SXHs F=a 19,590 29,600 210,010
201 er23| 18,990 29,000 10,010
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SA: DIt
B R|oipigre] otgr s
el ™ - TAl HHIEHA 25 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
02 LB HAHE X 5,000 5,000 0
OXNSHbIZ X & SAES
5,000,000& 1= 5,000
308 AHAIEMSOIE 16,800 16,800
VoblZsdXNE4ExX 16,800 16,800
oxXgutlZ s42438 N3
100,000& 1404 2=+ 123 16,800
403 THXI M SAH=01H 52,390 56,100 23,710
Al 18,717
T 36,673
03 dblZ2sd X2 2x 52,390 56,100 A3,710
OXublZ & $ERH SEXRA(S010{E 4
CHCH) 52,390,000& » 1= 52,390
Al 15,717
- 36,673
e ZHl(Dleiers nt) 539,639 273,037 266,602
&l 426,285 199,529 226,756
] 118,276 199,529 N81,253
101 @124H| 116,543 194,961 AT8,418
01 &2 65,212 91,206 N25,9%4
OAIZRZ2 ¢ 65,212
O6= 12,3213 +36A| 2t+4E + 123 20,700
ora 11, 1302 *30A| 2H+3H* 122 14,024
OL=; 9,992 x35A| 2Hx3EH* 123 12,590
092 9, 1602 x36AI 24123 15,389
OX I &bl 62,703,000& 4% 2,509
02 JIEtAE = 51,331 103,755 A52,424
OARIEHADI NS (2H2) 51,331
OHsSH 30,836,000 *1&+1H 39,836
OAIRAZ 25
9,902 1H*3BAl 2+ 123 4,197
OS=H==g 139,500 18 =122 1,674
OE=g 80,0003 1 x 128 960
OFSEL =Tl 140,000 x1&* 122 1,680
OcJt2 &l 840,000 x1H*13 840
OX I &bl 38,302,920 12 *4% 1,533
OLEEE=2RE3S
34,876,920 x 12 *1.75% 611
204 MR AH| 1,733 4,568 A2,835
02 a2 x| 1,733 4,568 A2,835
QAR EERILIIHBSRE (2H2)
165,000 *35/40+ 1 = 128 1,733
HI(OleHE =) 308,009 308,009
101 1A 308,009 308,009
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OleH ot ot

HI: HN2AAY(DIZE D)
el i Eg| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 24 54,227 0 54,227
OAlZtQI224¢ 54,227
062 12,3212 x35A1 2H55 * 122 25,875
o7z 11, 13021 %3541 203+ 1284 14,024
o8z 9,902 *35A 22 * 128 8,3%
092 9, 160R %3541 2H+ 1% * 128 3,848
OX<IMHLbI 52, 141,0002! 4% 2,086
R JIEHR 4 253,782 0 253,782
LB HIS 2R (83) 124,742
ogEH 55,413, 7772 x2% x114 110,828
OAIRt 2=
9,992 *35AI 2+ 2% * 128 8,3%
OFAUZ AL 140,000% 2% * 128 3,360
Ong=E 123,418,0002 *1.75% 2,160
OARZIEE I M B2 129,040
OHASH 98,706
2t3 34,877,002 %1%+ 34,877
- 0r=2(2g)
(33,411,9422+25,416,510%! ) 1 63,829
OAlZteI224g 11,892
23 9,992 *35A1 2H+ 1% * 128 4,197
= 9, 160& %3541 2H+2% * 1228 7,6%
OS+AR4g 3,928
213 139,5002 x124* 128 1,674
Or=(29) (101,67021486, 1002 )+ 122 2,254
OEag 80,0002 x2%* 122! 1,920
OFAUZ AL 140,00024x32* 128 5,040
OS] 1,877
23 840, 0002 12 * 1 840
02 518,350 x2%* 1 1,087
OB 98,706, 000! *4% 3,949
OnsEEzeya
98.706,000&!*1.75% 1,728
=22 113,354 73,508 39,846
Jl=z 56,39 73,508 ~18,110
201 YEr2HH| 17,838 22,383 4,550
01 AtR22ld| 16,772 20,612 £3,840
oger2H| 9,092
ORNEg=+=3HI
(25,0002 * 15 * 128 )+0.8 3,600
OElH ¥ =& 2| 4,450
FZHAUOINIRIE E1H(44)
150, 000! *4 A x2)f 1,200

_19_




2A:

OleH ot ot

B N2 (0IHAHD)
=l Jl=3H| (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CZAD £ (44)
150, 0002 444 <23} 1,200
- =AD| = 300, 0002 =444 1} 1,200
ZRIE £ 160,000 x471 600
EUsl+S 50,0002 x50 250
OF4I| URE 31,9002 1Ch+ 122 383
OBIHFI| ARE
54,9002 1CH« 122 659
o3zt 7.680
os234| 8,0002 1624541 122 7.680
02 BB 1,068 1,776 ATI0
02222 2 MA 1,068
oLuE23 1,066
S -E] 2,53021+3021 122 911
ABPEE 430153021+ 122 155
202 O1H| 34,560 47,520 12,960
ENTT 34,560 47,520 12,960
oJlzge ZXOH]
80,0002 +162+ 128 34,560
208 2P EIH| 3,000 3,600 2600
VS TSEESST 3,000 3,600 2600
ORHSYYRET) 250,000 122 3,000
Jl=2ZHI(0lHE ) 57,956 57,956
201 Ler2 ] 18,236 18,236
o1 AR 22l 17,170 17,170
CEIETER= 9,010
ORN2A+EH
(25,0002 142+ 12 )+0.8 3,360
OEU o =& 2| 4,450
- ZAYOIMESE EU(4M)
150, 00021 x4 442} 1,200
SADIEU (444) 150, 0002 x444x2H 1,200
L =AD| 8 300, 0002 #4441} 1,200
ZRIE £ 150, 00024 44 600
EUz+=S 50,000& *50H 250
OF4I| AxE 50,0002 «2CH 122 1,200
CEET 8, 160
os234| 8,00021 1724540 128 8, 160
02 BB Y| 1,065 0 1,068
03322 % HA 1,068
o2ER3 1,065
SHES-E 2,5302+3021 122 911
SEEIE 430243021+ 128 155
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OleH ot ot

MM HY2AFH|(0l2HerE 1)
oel: D23l (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
202 0idl 36,720 36,720
01 =WHO4bI 36,720 36,720
OJ12g: =&l
180,000 x 17 =123 36,720
203 YR =&H| 3,000 3,000
M EN2EHRFAY| 3,000 3,000
OFRAN2ILRF&I 250,000& =12 3,000
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